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NEW QUESTION 1
Given the code fragment:

1, Iovegezl] nunbezAzzay - (1, 2, 3, 4, S, 6, 7 8 ):
2. Lizt<Intagar> listOoshmumbars =
i H W Arraviistl<» (Arzays.aslisL [siumbezAzzay))
4, Tier<Tnragar> myTaer =
- B collecticns.synchronizadlist (new Asravnaist<>() )+
f, 118t *NuYhara
7 .parallelStrcam()
H. mapl(a > | myList.add|[s): ratirn &7}})
g, . =orBachOrderudic => System.cuthprinti(c + * “)};
10, System.oub.pelazlnl};
11, mytist
12. L. eant)
| 3. .TOYRACh (@ => Sysrtam.out.prins(a + " "1);

What change must you make to enable the code to print the following output?
12345678
12345678

A. Replication line 8 with.pook(o -> 1 myLis

B. Add(c) ; )}

C. Replication line 12 with Parallelstreesy).

D. Replication line 7 withStream{).

E. Replication line 13 withforEachorder{c -> system.out.print { ¢ + * “} ;.

Answer: C

NEW QUESTION 2
Given the code fragment:

L .'_"-‘f‘II'I.HIJﬁ‘.':' MUNR = ek A r-u-,.‘? LB<O> () ;
Tuma . adai109)
Tums . adc i 20o)

' 7

7 1ina nl

L

*

Tl

Tuma.replaceall (Zuniannti:
sVetay.cut.printindnivys;

Which code fragment, when inserted at linenl, enables the code to print (500, 1000)?

A. UnaryOperator<Integger> funintf- n -> n * 5;
B. Function<Integer>funintf -n ->n*5;

C. intFunction funintf=n ->*5; |

D. Consumer <Integer> funintf =n->n*5;

Answer: A

NEW QUESTION 3
Given the code fragment:

'k
) |
1 |
-
=
T
;::

Lost<Intagar> codas = 2»

L ELT-

"
-

ik
ll'll"
i

I.!‘.:’I .}.ﬁl}..‘ CATOY .-'q-'l.r. 'It]l.:t.."n WG —
ll-‘-.h-i*:i- L -'- .: .1 q ! -Hal l I*‘;"" r
sodes . forZachic > Gysten,ouaz.prantlnich):

What is the result?

A. A compilation error occurs.

B. 1020

C. 20.030.0

D. A NumberformatExecption is thrown at run tim

Answer: C

NEW QUESTION 4
Given the code fragment?
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) Lisb<inleder> numys - Riravys,.asLlislill, <0, 10, 20,

/* ANECArTt cooa fragmanT haera *J

Which two fragments, when inserted independently at line6, enable the code to print true?

. Boolean b = num

. stream ().Nonematch( n -> n == 20) ;

. Boolean b = num

. stream ().filter(n-> n —20).allMatch -> u — 20);

. Boolean b = num

. stream ().map(n-> n20).Nonematch( n -> n == 20) ;
. Boolean b = num

. stream ().allMatch -> u — 20);

IOMNMMmMmOO >

Answer: BC

NEW QUESTION 5
Given the code fragment:

L Arns MTaat !
LI § SLat? 1 2iINniSLCy [ AFg= !
FE= = ] = (H) = TR
- I = " Wa al"
M
f:-,'xr-ﬂ'!.'- o i | L I =t """-:_‘1-_1,?.“'

Which is the valid definition for the crecter interface to enable the code fragment to print ksthy welcome!?

A. public interface greater { Private string greet {string name},)

B. public interface greater <T> { Public static String greep (T , name) ;)

C. public interface greater {Public default String greet{ String name} { Return name;}Public String greet (String name, String salute);)
D. public interface greater { Public String greet(String name) ;)

Answer: D

NEW QUESTION 6
Which statement Is true about the single abstract method of the java.util.function.Function Interface?

A. It accepts an argument and produces a result of any data type.

B. It accepts one argument and returns void.

C. It accepts one argument and always produces a result of the same type as the argument.
D. It accepts one argument and returns boolea

Answer: A

NEW QUESTION 7
Given the code fragment:

2R .JHI:...T"....‘;;]...||'+

) @

L ]

o
-"-l- - [ l.' s r ‘l'_ll .r ;'.'-"_ﬂi_lh - ] l"l .-
=N . ' " e ol b = H -

Which should be inserted into line nl to print Average -2.5?
A. TNT.stream atr = Stream.of (1, 2, 3, 4);
B. IntStream str =IntStream.of (1, 2, 3, 4);

C. DoubleSteram str- intstream.of (1, 0, 2.0, 3.0, 4.0,);
D. Steram str = Stream.of (1, 2, 3, 4);

Answer: C

NEW QUESTION 8
Given the code fragment:

Which code fragment, when inserted at line n1, enables the code to print the could of string elements whose length is greater than three?
A. listVa

B. Stream(). Filter(x, length {) > 3}. count ()
C. listva
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D. Stream().filter(x->

E. length{) > 3.} .mapToint{x -> x). count ()
F. listvVa

G. Stream().map {x ->

H. length {) >3}. count ()

. listVa

J. Stream().peek [x ->

K. length{} > 3} count (). Get ()

Answer: A

NEW QUESTION 9
Given the code fragment:

¥y I AR = ."‘..-.-r "I'|r-'-|-|.\-.|. Y ites
prlyvate SLring resaclrocaeiNams:
“ili1 ] CUuBLOMBESaGUIrces (2T 01ing fame)
ragaUurtcalame = nams,;
}
NmEdrfa mebhoris

Which two changes, taken together, enable the use of this class in a try with resources statement?

A. Add a mothod:Public void close {) ToException {)

B. public class CustomRecource extend Closeable implements AutoCloseable {
C. Add a mothod:Public void autoClose () throws ToException {)

D. Add a methPublic Boolean close() throws Toxception {)

E. public calss customResource implements closeable (

F. public class customResource extends AutoCloseable {

Answer: AF

NEW QUESTION 10

Given:
sublie clazz Mylpp
public static vaid asin(stringli azrgs)
Etring yar = arges.length —= l1l7argz(d "Rava"
gwitel {vnr_rceplses(*v', 'w')
caze “lkawva™
gvstex.cet.println {("kava® oreak;
cz=c "Xava™
Syztex. cut.princle(?Xava® brealks
cese "kawa™
gyszem.cut.printlinikawa™}: break:
c=ae "Xawa"
Eystox.cut.println(“Xawa"™ oroaki

What is the result when you compile the code and execute the command: Java MyAPP Kava

A. Kava
B. Kawa
C. An Exception is thrown at runtime.
D. Kava
E. Kawa

Answer: E

NEW QUESTION 10
Which two states are valid for a watch key?

A. Ready

B. Not Runnable
C. Runnable

D. Does not Exist
E. Signalled

Answer: AE

NEW QUESTION 11
Which two codes correctly represent a standard language local code?
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E. ff
F.eB

Answer: CD

NEW QUESTION 12
Given the code fragment:

ST 1 a=atlile voi1d satnioLry ingi] acrgsl .

. --In.--

T{__y"_-:‘,mh_:’ ""_J‘I' .-T. - T, - _:-l "‘}'H-""I--’ LY
¥l § -

-

OYeELam.UubL.prXiazlni{atr )

Which code fragment, when inserted at line n1, enables the code to print ABCD?
A. string str = sList.stream reduce () .reduce (“A”, (s1, s2) -> sl.concat (s2)) ;

B. string str = sList.stream reduce () .reduce (* “, (s1, s2) -> sl.concat (s2));

C. string str = sList.stream reduce () .reduce (“A”, string: : concat) ;

D. string str = sList.stream reduce (). Reduce (s1, s2) ->s1, concat (82) ;

Answer: B

NEW QUESTION 13

Given:
Lase Worker satends Thrsad
Svelicharrivr :
pulbllo Wophe: [CyollcBarcier b { Ehim.cb = chr |
public vcid cual)
ee.awaizdly
EYS Lo, oul FEAntin ("HoT kST ")
catch ({Excoption cx)

fiinme =l

and the cede ragrment

MeEsEET MesEEE = 8% FasTeEs |

'Y lime nd

Warke WaSESr — oW Wezker{chhd

'.1':;.':1'::...'.'..2.1'.'; Lad4
You have been asked to ensure that the run methods of both the worker and Master classes are executed.
Which modification meets the requirement?

A. At line n2, insert cyclicBarrier cb = new cyclicBarrier {2, master} ;
B. At line n2, insert cyclicBarrier cb = new cyclicBarrier {1, master} ;
C. Atline n2, insert cyclicBarrier cb = new cyclicBarrier {1) ;

D. At line n2, insert cyclicBarrier cb = new cyclicBarrier{master) ;

Answer: B

NEW QUESTION 16
Given the code fragment:

ZrmpleDataeformal gdls

lalztalfarrat | Y"scse™, ocals, 178

Syatam. sul o mr tnclnt=fesulit: = AdZ. fopwat (tadavl

What type of result is printed?

A. Era

B. Time of the Epoch (in milliseconds)
C. Full text time zone name

D. Time zone abbreviation

E. Julian date

Answer: B

NEW QUESTION 17
Given:
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ARE SFOMUCT
D1 rate doubDle prioe;
=k T ™ S iaouUubh l e PE |
8. - = vk *
;_rl.li:i. ik I- |Ju‘-:-‘ 'H.-- | e J¥= T =T i

and the code lrogment:

L.sncFr ficE> prd = rw Arravii=t«
ard.addinas 7 fjuct (10 i
File At I = :‘_ it l-|.' | s
prd.agdinss =roduct (310 ) }
= Nl

& 1 + i -
yatan, ubk.printinitotalPr s
¥

Which code fragment, when inserted at line n1, results in the following output?

A. double totalprise =pr

B. Stream()* Reduce (0,0 Double::sun) ;

C. double totalprise =pr

D. Stream()*Parallel ()*Reduce {0.0, {p1,p2)-> pl. Getprice{}+ p2. Getprice {}) =
E. double totalprise =pr

F. Stream{)*Parallel ()*aap { -> p.getprice{})* reduce (0.0, (p1, p2) -> pl + p2) ;
G. double totalprise =pr

H. Stream{) Rduce(0.0, {p1, p2) -> pl + p2);

Answer: D

NEW QUESTION 22
Given the code fragments:

“lams= I Mpleiments Funsanle -
puilic wold rux() { Svaten oubt.printlof™luez.,."):
)
elage & mplemente Sallablocfbrinss
PUnllE STEANG S3lldr BhESwWs ERSaplion | refarn "5nl .
I
and
IESCUTAERS YIS & = [[EedULars..newiiijleThresdlesuiaar il
- e e | e (e W) : JA 1ine pl
FuburesSLringe 1 = ag, qukmiLinsw Sl01se FF 1ima n?

Swetam, out,.orinsin(FL aen i)

wo gy gl )L
What is the result?

A. The program prints Run... and throws an exception.
B. Run... Call...

C. A compilation error occurs at line n2.

D. A compilation error occurs at line nl.

Answer: B

NEW QUESTION 24
Given the code fragment:

IAkerrasa Tah ::'_'. e
punlic wold ride{int apsedi.
f
and
T, gkl e wogble: wodld main(GLeins[] agel §
q. Yehicla v = naw Wohiclaile |
5. prblac woad rade {ipl spesesd)
£x. AyEnam.out.printi"FLY At " + spaadl
7. i
r. 5
a, v oid= (100
L, &

Which code fragment could you use to refactor the code from line 4 to 8 to use a Lambda expression?

A. Vehicle V =(int speed) -> =[int.speed) system.out.prin

B. (Fly at” + speed} ;

C. Vehicle V = speed -> [system.outprint(“Fly at “ + speed) ] ;

D. Vehicle V = int speed -> System.cut.print (“Fly at “+ speed} ;

E. Vehicle V = new vehicle (int speed) (System.out.print{ Fly at “+speed); };

Answer: B

The Leader of IT Certification visit - https://www.certleader.com



CertLeaderm 100% Valid and Newest Version 1z0-813 Questions & Answers shared by Certleader
e https://www.certleader.com/1z0-813-dumps.html (60 Q&AS)

Leader of IT Certifications

NEW QUESTION 25
Given:
puiplic class ¥ehicle |
lnt vid:
prring viNawe:
public Vehiclediint vIdArg, String vHassERrg) |
hig.vId = wIdArg:
sals.viams = vNamaArg)
4
public int getvId() { raturn vId: }
publiao String getWWNama () { return vHawea; |}
public String toSiringl) {
ranirn Viame:
' b
}

and the code frogment:

Lizt-{Wehiclal wehicle = Arrays.aslict|
ncw Vehiclel(2, "Carx™),
new Vahicle([d; “Bire™),
now Vohicle(l, "Trracx));
velilele. .ol oedmi)
ff lina nd

| -TarExch (Syatam.ous::prins};

Which two code fragments, when inserted at Line n1 independently, enable the code print TRUCKCarBike?

A. .sorted (comparabl

B. Comparing (vehicle:: getVName) . reverse()

C. .sorted(comparator, comparing ((vehicle v)

D. getVId()))

E. .map(v->

F. getVid ()). sorted ()

G. .sorted ((v1, v2) -> integer .compare(vl.getVid() , v2.getVid()))
H. .sorted ((v1, v2) -> v1.getVid() < v2. getVid())

Answer: BD

NEW QUESTION 28
Given:

isport ‘ava,ucil.concurrens.atocmic.AtomicInteger

class Increamantor |
public static void main{dtring([] arge) {
AtomicInteger]] var = naw RiomicIntegar([5):
for (iat L = 02 L < S2 144} {
VAE[1]= new AtomlcInteger|):

'

for (int L = 0 | < war.leagth: 14v} {
?at[ji.inﬁrmnt.hndﬁ&;h;
11 1 = 2}

varll).comparsindSat.(2, 4):
System.out.print(varfli] 1+ " "}:

|
What is the result?
A.01234
B.01234
C.11111
D.12345

Answer: C

NEW QUESTION 29

You are asked to implement an interface that processes a batch of transaction objects and returns a discounted value for each transaction as a double primitive

value.
Which interface can you use to accomplish the task?

A. ToDoubleFunction
B. DoubleConsumer
C. DoubleFunction
D. DoubleSuppLier
Answer: A

NEW QUESTION 32
Given the following incorrect program:
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veage MyTask sxtend

S . -

v Tagkiing Lo,

TnLagar Compss

;
protesiad voird

Lnwokezll (n

Which two changes the program

g Dacyureivalasidlnzagsr> |
Linal int highs

z IENEEN0OID = %, 1.4/

int hiighl {4 thie.low = lowr thie.high = higar
Cizectlivl) 4 J4.,,*/ ]
gosousel) |

ow <= TIRSSHOLT

"
-

|: II ] ﬁ‘
ow | highy / £

w MyTask{low, mid), new Mylaskimad, hagh);;:

work correctly?

A. The compute () method must be changed to return an integer result.
B. The TIDESHOLD value be increase so that the overhead of task creation does not dominate the cost of computation.
C. The MyTask class must be modified to extend RecuraivaAction Instaed of RecuresivATAsk.

D. Result must be retrieved from

the newly created MyFask instances and combined.

E. The computeDirectly {} method must be enhanced to fork () new created tasks.
F. The midpoint computation must be altered so that it splits the workload in an optimal manne

Answer: CE

NEW QUESTION 33
Given:
Slasas CheacsClaas |

public static int checxValusiZtring #1, String &3)({
ratarn gl.langth!} az.length):

¥
}

and the code fragment:

Jreing () ateArray = new Stringi]l { ~Tlger™, =2at", "Cat~=, "Lion" }:

JAflire nl

far (Onring & @ azrArray) |

Syvetem.out.priaz
)

4 i A -

Which code fragment should be inserted at line nl to enable the code to print 2ot cot Lion Tiger?

A. Array

B. Sort (strArray, (CheckClass:: Checkvalue) ;

C. Array

D. Sort (strArray, CheckClass:: checkvalue) ;

E. Array

F. Sort (strArray CheckClass :: new:: checkvalue) ;

G. Array

H. Sort (strArray, (Checkless:: new, checkValue) ;

Answer: B

NEW QUESTION 38
Give the code fragment:

Ligt<string> gwords = Arrave.asListi"why *, "#hat ", “when ™):
Sinaryiparator<firing> cperator = (gl, 87} -» sl.ccncat [(82);

tring sen = gwWor
EEduce (TWord:
Syetew.out.printl
What is the result?

A. word: why what when

da.streami)
"y Gpsratorl:
n(ean) :

B. word: why word: why what word: why what when

C. Compilation fails.

D. word: why word: what word: when

Answer: A

NEW QUESTION 43
Given the code fragment:
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5 public mLabtic wolid digplavietallsadl

E. Lry (Dufferadfasader br = rnew Dulferedieadearinew FllaReader ["salsaraport.dat
7 String ragord)

3 wnile (ifeacofd = br.readhined}) 1= auli)

10, SyrLem.out.printlniracord) ;

) b

12. br.clossf):

13, hiy = naw SulfaradRaader (inas Fllaleadar ("annialrepor . dat™] 1
14, while {({racord = br.raadlina()} 1= nally ¢

15, Syetam.oub.printlniresord)

15. b

17 . | catohiIOEXe=aphion =i

i8. Syetem,arf.printin, gatslaasd) )

19, I

20. )

What is the result, if the filesalesreport. dat does not exist?

A. class Java.ia.|OException

B. Compilation fails at line 6 and 13.
C. class java.i

D. fllenNOIfoundException

E. Compilation fails only at line 6.

F. Compilation fails only at line 13.

Answer: E

NEW QUESTION 47
Given the code fragment:

14, //insors cod Ere

i3, =izt fentlazadlog = n=w ArxrayListi};

i6.

17. fentlatelag. add("Algarizanm};

10. fontiztzlag.add("Cambziz")

18. fontlatalog.add("Lucida Eragaz"):

20. cascgory.pi={“firstlatagery™, fcntCazalog):

Which two code fragments, when Inserted Independently at line 14, enable the code to compile?

A. Map<String, List<String>> category = new HashMap<>> () ;
B. Mae<String, List<String>> category = new HashMap<String, List<String>> () ;

C. Map<sString, List<String>> category = new HashMap<String, ArrayList<String>> () ;

D. Map<String, List<String>> category = new HashMap<List> () ;
E. Map<String, List<String>> category = new HashMap<String, List<>> () ;
F. Map<String, List<String>> category = new HashMap<> () ;

Answer: BF

NEW QUESTION 50
Give the code fragment:

aas Tagt
pukllc Sia & ] paRln Lot ingl 2LOE
SlatsTntagarsy ruma = Brrays.48li1et6
Syeatam, o GEANt L1k { uminumel )
pUbhl1s BTati it SGGum ¢ 3 A SBsEs
‘Iine nl

i
]

Which code fragment, when inserted at line n1, enables the code to print the sum of all the elements in the runs list?

A. return list, Stream () .map (I -> i) sum () ;

B. return list, Stream ().mapToint (I ->i). sum () ;
C. return list, Stream () .mapToint(i -> i+ i) . sum();
D. return list, Stream () .map(1-> 1 +1) .sum{) ;

Answer: B

NEW QUESTION 54
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